Power switch: The terminal of the power switch marked with the words "Power Switch" is used to
control the work of the board, and a switch needs to be connected to control whether the board
is working or not.

Input voltage: 10V-15V

Board output frequency: 50HZ

Output waveform: square wave, quasi-sine wave (decided according to the use of transformer
and 220V voltage feedback, no feedback (220V voltage sampling) square wave, voltage feedback
must be connected, otherwise there will be huge no-load current and serious heating problems)
Voltage feedback (220V voltage sampling): 220V voltage feedback (220V voltage sampling) must
be connected

Quasi-sine wave inverter drive board

An external 50HZ 220V 8-12V transformer is required. If the voltage is greater than 10V, even if
the 220V feedback voltage is connected, it may not be able to stabilize the voltage. Only one
winding at the low voltage end (silicon steel sheet standard transformer)

The transformer power is suitable for less than 800W, and the maximum output power is 500W
Small transformers cannot output high power, for example, a 50W transformer cannot output
80W power

Voltage stabilization function: when the transformer is close to 12V, there is no voltage
stabilization function, and it will output a square wave. The voltage stabilization function is only
available for 8V-10V transformers. There is fine adjustment for customers to adjust the voltage.
The voltage stabilization function needs to be connected to 220V to the board. 220V voltage
sampling

With input reverse connection protection function

With undervoltage 10V undervoltage protection function

Output frequency: 50HZ, can be fine-tuned (it has been adjusted to 50hz before delivery)

The output voltage should be adjusted to about 220V before shipment. The voltage of this type of
AC terminal has a slight fluctuation

No-load current: The current consumption of the board without the transformer itself is about
40mA. The size of the transformer, the silicon steel sheet material of the transformer, and the
transformer voltage of 8V or 12V will all affect the no-load current after completion.

When a small fan is equipped, a capacitor can be added to the output of the transformer to
correct the waveform. It can output a similar sine wave, but adding a capacitor will consume a
certain amount of power and reduce the conversion efficiency. Without an inductive load,
additional capacitors are not recommended

The small red and black wires on the board are connected to the power switch corresponding to
the white socket marked (power switch), that is, the red and black wires are connected together



and the board starts to work
The driver board is soft start, if you need a hard start, leave a message or contact customer
service

Note:

1. The transformer needs to use the input 220V, 50HZ, output 8V, 50HZ silicon steel sheet
transformer, ring, R-shaped, E-shaped, C-shaped can be used

2. Single 8V (8V terminal has only two wires).

3. The wiring must be connected to all the wires of the transformer before powering on the test
machine. Do not power on while connecting.

4. To correct the sine wave, it can be used to connect fans, televisions, light bulbs, hand drills,
angle grinders and other series motors.

5. If you want to output enough power, you need to ensure the input power, small batteries, thin
input lines, small transformers, and it is impossible to output high power. Recently, some
customers do not understand the output power of the inverter board. The maximum output
power of the transformer is 300W, but some customers think that if you just connect a 30W
transformer, they want to have 100W or 300W output power. Friends with a little common sense
should understand that it is impossible to output 300W power from a 30W transformer. Of
course, do the reverse The change can not make the 30W transformer output more than 30W
power.

6. It is strictly forbidden to use transformers with large leakage inductance, such as strip platinum
transformers, transformers removed from wireless transmitters, and microwave oven
transformers. High leakage inductance will produce high-energy spikes that damage the FET.

7. It is strictly forbidden to use transformers with inconsistent frequencies, such as non-50hz
transformers and ferrite high-frequency transformers.

Using a transformer with a voltage higher than 10V on the low-voltage end may have a problem
of low output voltage, because the output voltage depends on the input voltage and the
transformation ratio of the transformer. For example, of course, when the input voltage is
standard 12V (measured by a multimeter), the transformer When the standard 220V is changed
to 12V, when the voltage is measured with an actual multimeter, the inverter is 220V, but many
times the 220V to 12V transformers made by manufacturers are actually 220V to 12.5V or 13V.
They consider the general low-voltage end of the step-down transformer Will be connected to the
rectifier circuit, so it is deliberately high (the rectifier bridge has a voltage drop of about 1V, about
2 diodes), which will lead to the problem of low transformer ratio, and the voltage after inverter
is lower. Using a 13V transformer, when the battery voltage drops to about 10V, the inverter
voltage is about 170V, calculate 10+13x220=169.23V, when input 12V, calculate
12+13x220=203.076V

The no-load output voltage depends on the transformer's transformation ratio and the input



battery voltage. If the no-load is normal, the severely reduced load is generally due to insufficient
power of the transformer. The insufficient power here includes the following situations. The
transformer itself is a low-power transformer, and For high-power multi-winding transformers,
the 12V winding is selected because the transformer manufacturer makes it according to the total
power distribution. For example: a 500W transformer has dual 28V windings, 9V windings, and
dual 12V Winding, the manufacturer may allocate the main 400W to dual 28V windings, and the
remaining 100W is allocated to 9V windings and dual 12V windings. At this time, 12V windings or
9V windings are used for inverters, which can not produce high power at all, even 100W. It may
be. In addition, when the load drops, you need to consider whether the input wire is too thin or
the battery is too small. Small batteries, thin wires, and small transformers can't bring out the
power of the board. The transformation ratio also affects the output voltage. At this time, the
most obvious manifestation is the low no-load voltage, such as a black-and-white TV that uses
220V to double 17V.



